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Private Sub Form_Load()

Dim i As I nteger
MSComml. Port Open = True
Text16. Text = Date$

End Sub

Private Sub Commandl_ Click()
Dim textltext As String
Dim text6text As String
Dim textl8text As String
Dim textl9text As String
Dim text20text As String
Dim tl1 As String

Dim ttl As String

Dim tttl As String

Dim ttt2 As String

Dim ttt3 As String

Dim ttt4 As String

Dim ttt5 As String

Dim teetl As Single

Dim teetl8 As Single

Dim teetl9 As Single

Dim teet20 As Single

Dim teet21 As Single

Dim teet22 As Single

Dim tsl As Single

Dim ts2 As Single

Dim tss2 As Single

Dim tssl As Single

Dim tss3 As Single

Dim testl As Single

Dim test2 As String

I f Optionl. Value Then

I f MSComml. I nBufferCount > 0 Then
tl = MSComml. I nput

ttl = Mid$(t1l, 8, 12)
tsl = Val (tt1l)

tssl = tsl1 * 2 [/ 20. 44
ttt3 = Str$(tssil)

ttt2 = Left$(ttt3, 6)
ttt1 = "O0O" + ttt2
Text 1. Text = tttl

End I f

End I f
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I f Option2.Value Then

I f MSComml. | nBufferCount > 0 Then
tl = MSComml. I nput

ttl = Mid$(t1l, 8, 12)

tsl = Val (tt1l)

tssl = Atn(ts1 / 20.44) * (180 / 3.1415926¢
I f tssl1 >= 10 Then

ttt2 = Left$(tssl, 2)

ttt3 = Mid$(tssl, 4, 7)

EI se

ttt2 = Left$(tssl, 1)

ttt3 = Mid$(tssl, 3, 6)

End I f

ts2 = Val (ttt3)

tss2 = (ts2 * 0.0001) * 60

tttd4 = Left$(tss2, 2)

tttl = Str$(ttt2) + " " + Str$(tttds) + "'"
Text 1. Text = tttl

End I f

End I f

I f Option3.Value Then

I f MSComml. | nBufferCount > 0 Then
tl = MSComml. I nput

ttl = Mid$(t1l, 8, 12)

tsl = Val (tt1l)

tssl = (tsl1l [/ 20.44) * 70

ttt2 = Str$(tssl)

tttl = Left$(ttt2, 8)

Text 1. Text = tttl

End I f

End I f

I f Textl. Text = =% Or TextxiOTeDhetxt= ="" "OrTh
Text6. Text = ""

EI se

teetl = Val (Textl. Text)

teetl8 = Val (Text18. Text)

teetl9 = Val (Text19. Text)

teet20 = Val (Text20.Text)

teet21 = teetl8 + teetl9

teet22 = teetl8 + teet 20

I f teetl > teet2l1l Or teetl < teet22 Then
Text6. Text = " "

EI se

Text6. Text = " "
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End I f

End I f

Commandl. Enabled = Fal se
Command9. Enabled = True
Timerl. I nterval = 0

Text1ll. Text = """

Text11l. Text = Textl1l7 + "sec"

Text 17. Text
End Sub

Private Sub
End
End Sub

Private Sub

Timerl.Inter
Command9. Ena
Commandl. Ena
Command2. Ena
Command3. Ena
Command4. Ena

End Sub

Private Sub

Label 25 = Te
Label 26 = Te
Label 27 = Te

End Sub

Private Sub
I f Timerl.1ln
ElI se
Text 17. Text
End I f

End Sub

L1} 0 n

Command8 Click ()

Command9 Click()

b
b
b
b
b

al = 1000

l ed = Fal se
|l ed = True
|l ed = True
|l ed = True
|l ed = True

Commandl1l0_Click()

X
X
X

t18. Text
t19. Text
t20. Text

Ti merl Timer ()

t

erval = 0 Then

Text17. Text + 1
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